Ansivesdo Exam l, Etm. 3250 Spry. 201

MEC 4) Wik no reg Ulihipy, profit s the
butne trea under He MV PB corve |
atbtctd . (Tlucsrs /wca.,gcl(/\e
| Todal amoont of Sometling equals the
S Ouput area under the cowe of iyt 4o 's
W\arfl}\d valve. )g
9) T cptnt standivd 1 "S" (here pre

—AA/FB) CArea "d iz lost
fo Ye Arm (143 sot produced Guy ware) | Pofit 5 atbt <.

¢) e eptoncliey  "t" (where MEC-AMPRY . th “d* dveppasss
7K mparf [é) 4;4“5 bt Gre /o@/ as 7’22)(5:7‘97%«050»«
anljpméé Het remains is 4.

X A4 Nepehpre prht Smignized Lla, hvpg = o .



.(uﬂoo&c-”s.er(d—he_ ‘l’Lut PD’L-M?{ Q\m\s/ /-‘ra—..J B.
Lt A's Mevpmel docdemut Cost be MAC, , and B's he MAC,.

S.Ufpo}e et bngsins e 5’1&074\/[' bnd 5-14'7»»\ B , and it 3 dose £ to
Webtve, o tota| Gorgsims 7 &

S’}M(lé—rg( ) ’%‘f(e épﬂ Ay‘m: 7‘0 Mdvce %?g,v»\.s‘ﬁ 9@(%. /Zag AAJ
Zn Epuips 12w lonbel| o5t of MAC, + HAC,

Tradecl(, Pecmits : 11, pemitprte Lnilf be betreen /L?'ArCA “d AL 5

/'.{I)\Ce if i uwas [o’lu—c(’ boH. fyms wovld wad 7Lpét7 G d M%
bovldwaot- o Sel(, sad i T was L,;i}\@r bot would wat Fo 5 el

bnd e Hoy would want +o LUJ gb()paft MAC, >MA’C

(it fdnet's mot e, C}\“’Aje He labels of AendB - if

/‘1A'C f/‘t,4(B , o Proof- will not “’Wk>. A wl Wt 4,
bo

Y4 pemit, becadse thet mly costs rt e pomt prce "p)'
whkzl, 3 olw?,{m ,,4,41&1»} Smee MAL, > p > MA L
Bl it bill cpemd | becae ] nocore p o ",
bhetl 3 mewe ., MAC 5 [ He promeq T tosts fo zlote more
Pree B has solt & pecmit) .

Pe rastt s Mk A docs ut cbade (A 5 Hl Enits
5’) B EaRIVNS fo5 o S oo 3, ol s forﬂf«m 10 12

§ as Mju,hp(/ and 1Bhl Ldidemat tosts ere /"1/4—( 4/14,4(
wheh B lcs than vnde, the sz fo, ol |



&

“Ra Seekoa " s 757/? Yo M ence forenment offz,uls o et ety

b7 tfeprel s v 50 lihoms Ma iy W& @ gpecin/ m %«Jl“fm/o.
lu the Lo tect

Mm‘f'd’-r"]j

of polluh lehoy

pelvhm rGulction ) o duils Boms Py o get foreumet
Puplemad stizde, o/l from ntrols, oy

polleton Mgulations g zuc7 zé.myéé(g Fo VA&t fym .

'}b wedy ¢, f)p)/u-h\m Loutro /5', ov hot
/7471‘7)9’4"'



“OA"3 Pt 4 less
Stady-stle (s ¢4 om popt |

!\ S feadk- Shde Pereues
2 1 E Mot
Open Acacs

C’-gu i1cbrivim
Efert

A) D/u.\ A Ctas s Mgy mes W/OVDIC%(“TT ‘= 0), é.eaose O bp// loed
14)’»\; o &,9er 7%'7{3

/\a,j /&IZV,DA% Ere free 1o Ao betaso 4 cecss

13 7/9%/ ‘H._d 3, UnheJAq‘L\teJ), M,{ m <0 Lgou/d (_ead é‘r”‘_g 7<> .exf‘{‘.

Zaw/m’#{' oceors tyhere rewvt, e =Los"1‘, hen e

'H\zfom-(- labe (o
X3 DA.‘ [}

C) ?oik'f Z' 1’\4.{% J&”‘e V\Mues “X“ as DA/ IgJ]L Poﬁ\'("zls lDS"’S

L re [owe;(' (" Y“) 'de« DAfS , So ,’1‘3/,..,(-}» s L:jker. Z isfo
e left of o A Egullibrnm Effrt 2o 25 effort 1o less dnd & A3

I(Zu (jo +D m rols: MX«M-—; —):j (e,voe 91‘ e‘;‘h’l N év’i D‘n[-, L CO/D‘QMC&
i3 Se P A‘}" Z‘l / |

wov 4 :r" l-"'é %(ac-Hy 63“44 ‘("p '“12 PN(LI('{"M&K vl (MI D' @t; 3't
l ’ ' _j



\
- . - - —

-, — e - -

pa K
S wppose A = He chort-ron Prbffffwl-x;w;b»} Pens.

F ”ow} He Hb#,éu(‘ Rule meens 579«4\\7 ot a pont lke B audt Hew
th\} "{'94,')0)\4,'!' (J}(C C 774«3 3 beaz““ He MWM PVDAT‘&;( B

/5}“’“‘* %H&Jloﬁe of mwm) 5 (s Hae Hat ot C, 204 e
/{My IPVG /(ojww.(‘ ‘ﬂeqL M@/r,m@f)m#‘{ )"5@51'4/7'7)145‘

Soows tme, B ad v | a8 Mevprad profit mies.



/)\ 4 dz’aoynt 'N)(LJ (757[&,,\/ 7&1/9*1‘& D?ﬂd jOOc{ F naesged lj ﬂe M”Uh/{“

of Ue ”c&fwrh" Hew, Pt bmoont s heporned o b hotya, wehrne Heo

predect (afley 145% vsed) to en PPrreprate locibo

ln #lo S .A;dn7, svcd -fynlhw Epe LSed Aj glmrqnmm'(‘s fo euéoumjc
L€674L7 brd Wedvco muns “ped Sold wegle d3posal .

[p, bﬂg,/ Fmes d-u.gﬁ/qces’ s 574/3”\: /IW beg,, vied %j /Dhbdﬁ Armg %p

A/éfap((, 444«»»40&5 Cos toomers 1 nedum be Wy s so e foym can reuvse
oy pudecd of )wu-na +°A"_'j hew bollles



